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— #9 Graphthe equation [n;+ 9
(/D ¥ =9x=1 Lesson |

(B) Is the point (3, 5) on the line?
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@) Write another solution

(D) Write a non-solution

*|p Graph the equation
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Name
Solving Systems of Equations by Substitution
Solve each system by substitution. 0 lue ‘FOR v '

Date

Unit S Lesson Z
1) y=7x—-10 ol - /b )X =-8 £ -
xﬂ) ! y= -2¢ ) -1z

y=-2x-12

50‘“ ’&Lx So lve A@x.
3):::;51»4 ( )=5X + l-{ K §:3x7—9 ( ): 9x -9
Solvefor. X analg. 4o Solve o X and "

v j: bx =19 j‘—ax i3
y: -8 x y-:S)(

- -5 Mweqw&on
“Bx = bx-1 pesopelon  Sx= 2x -1 A
wi‘(’ﬁeu‘\"a- ur&u.d“?.




9) y= 3% 10) 6x+7y=20 Unit S
e e Lesson R
. g/_w

x+1( ) =1 bx+1( ) = Qo

13 y= X 14) y= X

3x+3y=-18 =Sx~5y=0
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El ! Mination Md‘p\ol

/\/AMC : Date:

i+ S on
Solve the equations foax, and o - Un Lesson 3
5) -5x +2y=-13 6) 2x - 5y = 29
5x+1ly=1 4 + 5y = 13
Check: MSM& su\os-\iﬂ\LEon Check:



E/(‘mirwhon /(/Ie‘('goi &l%ﬁe e7aa:('ion5
Unit S Lesson 3 -)[:)Q . anJa

7)  -3x+y=-20 8)  Sx+4y=71
Fx g = —x -y = =43

Check: usir\(') %%ﬁwﬂm Check:
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S Algebra 1 Name

Graphing/Inequalities Date

l/(m'f' 5 LeSSon “/

1) Which of the following points lies in the solution setof y < 2x — 5?
L8 MaKes FAa ()é&( )-S
The P s i
(2,-3) ]
True ok False

2) Which of the following pointie in the solution set of y > -3x +2?

=t 8 (1z-3( Y+2
C‘(rc'e

7ﬁf€‘f°'~<; if [hes oa does NGTJ Tz s F,}\se?

3) Graph the solution set to the inequality shown below. Identify one point that lies in the solution
set and one point that does not lie in the solution set
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" Exercise #3: ; _7-5 ‘FA( W‘l‘ & system of inequalities shown below? Show the
work that leads to your answer.
y<—4x+2
_ SX+ 1

(2,3) Y con( Y+ 2  Bthomebhe
N > + -7 e _/b bQ
e _ —_— £ — 7 Z (130’«;"7'0:0.

> L e

True ov False True oa false

Very often, systems of inequalities will define portions of the xy-plane that can be visualized and manipulated.

Exercise #4: Consider the system of inequalities given below.

(a) Determine which, if any, of these points is a
solution to the system.

09 (4,-3) (¢,3)

y>-2 X+ 9O

e e

oR LY o’ \\
o No ”o No S“ow (é"g) 15 %’u‘[‘[on
Must be in The duble Shedke | e
(b) Sketch the solution to the system on the grid ‘9 2—;2 % + S >/ 4 ZX i ’
provided.
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Name Date

Algebra 1 Graphing a system of equations Unit 5 Lesson 5

; 1. Graph Fhe system

q, Solve the following systems of equations.

y+x = -1 Subtmet x X".’S

3x+y = -7 subbroct 3x

o
|

|0.
What is the solution? ( , )
a Qwheu He Lies cross

/ Z, Solve the systems of equations

y- 2= 6 12 4. Gragh He , Systen

5

—x+y=3

x

v

R

What is the solution? ( , ) I 7 ‘
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unl.'\' S LeSSon S
Solve each system by graphing.
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Systems of Inequalities

Sketch the solution to each system of inequalities.

Name
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(,(nH- S Lesson b
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—  #5 Graphtheinequality Unit S

(A Y>-2x+1 Lesson b

(B) Is the point (5, 3) in the shaded?

————
—

CC) Write another solution  ___ |

CD) Write a non-solution

*Lé Graph the inequality
(A) Y< gx—4

(B) Is the point (6, -5) in the shaded?
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Name: Date:

MODELING WITH SYSTEMS OF EQUATIONS (/( n i7L &
COMMON CORE ALGEBRA I HOMEWORK
L edson 7

APPLICATIONS y - /]/\ X + B

1. A local theater is showing an animated movie. They charge $5 per ticket for a child and $12 per ticket for
an adult. They sell a total of 342 tickets and make a total of $2550. We want to try to find out how many of

each type of ticket they sold. Le represent the number of children’s tickets sold anc@represent the
number of adult tickets sold.

(a) Write an equation that represents the fact that (b) Write an equation representing the fact that
342 total tickets were sold. they made a total of $2550.

S >

Al e
Vmb:;‘( K:A—H(Q i) Cost per vaviable  Gostper e iAble +sta )
Mookl Boahr  mkes ey At BT g
tickets fickets _/_(4&* 6;;&# Fket ms

2. A catering company is setting up tables for a big event that will host 7¢4. people. When they set up the

~  tables they need | fork for each child and & forks for each adult. The company ordered a total of IL7A
forks. Set up a system of equations involving the number of adults, a, and the number of children, c,

it = .+ . =

Vaciabdl Vaniabk numborof Vaddabk  number  \ariable

Dur::he: nu?nbe( 7:;: L foaXs per ”“'“bd‘ Yy Of #aks  numbar Z:o‘::;
for chl)  fa sl child  forek R R
frKs. Joe s BaKS  a w

faks ks

3. llida went to Minewaska Sate Park one day this summer. All of the people at the park were either hiking or
bike . 1f there were a total of 676 people at the park,

how many were hiking .7 j)lue _Q(A A)ﬁu.num);ev e kkers'.

Now, 39/4' h [ﬁ l“[‘SC}'C'

- e
. Variake nwnber Vavialole number  Hofq ) Pe@k
ot hikers 6F bikers iaHa park

UNIT #5 - SYSTEMS OF EQUATIONS . O? S _

COMMON CORE ALGEBRA I




Unit 5 LeSSon 7

flashlights and sleeping bags.

The flashlights cost $12
r the flashlights and sleeping bags was $1783,

4. Juanita and Keenan own a camping supply store and just put in an order for

each and the sleeping bags cost $45 each. If the total cost fo

There weae 94 ilems purohasez}.

+_ = e M A
t ) Cost 2 Total [()
gi Qu«nHJ = Qum‘ffg\ . uuo‘m"i’-]‘ Quqn{b Totnl
Vartable Vatitble. atible Uaiable  Tlems

5. For a concert, there were /) Sold ik ets fou TR Pe f-form.qnce. The tickets sold at the

door cost $10 and the tickets sold in advance cost $6. The total amount of sales for both types of tickets was
# £S0. Let d = e pumber of thot Hickets and Lot A = the number of 4ypnced rc ket sales

"

+ + —

— q—

—

6. Eldora and Finn went to an office supply store together.
packages of index cards for a total cost of $55.40. Finn bou
index cards for a total cost of $61.70. | o4 P = Cost

Eldora bought 15 boxes of paper clips and 7
ght 12 boxes of paper clips and 10 packages of
of & paper c,(rp box

Let T = Cost of e Tadex Card box

1)

UNIT#5-SYSTEMS OF EQUATIONS - —
COMMON CORE ALGEBRA I
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Name:

_ CoMMON CORE ALGEBRA I: UNIT #5 S}qu 6 . o/e_ S}Wjj 67“ l-r//e

PART I QUESTIONS: Show all of your work.

1. Which of the following is the X-coordinate of the solution to the system shown below?

o X +917=l3
Y x -(BCj:lz

—
———

2. Theline y=3x “Q Is graphed. Graph the other liney =-x + { Which of the following would be the
' y

y-coordinate of the solution when both lines are graphed?

VJ

j o ]
3. Which of the following equations would have a solution that is the same as the solution to the system?

Solu}ufon L’ Swbsitte e é
N X+ ly=38

SC)~3 )= -8
(x ) j)

Ciallet

Trae or False

4. Is (4) 3&)& solution to the system of equations? y= Sx-12 y=- 3x +20

,QC}_



5. The quadratic functions f(x) = -x% + § and g(x) = % x -7 are shown.
The positive solution to f(x) = g(x) is which of the following.

Wrde a Solution,

(——)
F Y |

X uo.l«tt- j W”ue

.

6. Which of the following points is a solution to the system of inequalities sho‘wn graphed below?

Weite a  solation t

"o T
S (T//“’—> :

j 2-3x+8 Ts +his Pcirr'— on 1 20 0 1 O 5 O
e ulmbé Shaded 2

7. Which of the following is the value of y that solves the system of equations shown below?

5x+éj =3 y:o?x

8. At what point do the lines y = - S ind y =-Jx +3 intersect? Show Mr. V the calculator.

_30_
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PART II QUESTIONS: Show all of your work.

—

9. Find the value of x that solves the system shown below. Show the work that leads to your answer.

y=3x and a?X+j ==

10. Graph the system of equations. y = %lx + and y =5'—x —Q

11. What is the solutlon to #10?

mkl?-b\‘"” <_____/ )

LMeb

PART III QUESTIONS: Show all of your work.

12. Solve the following system of equations algebraically. ﬁ)a +He Solufian .

(ﬁ’ ___) 7 5x+3j = 0
.,(7_ =

_3]_
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13. Sketch the graph to the system of inequalities shown below. Explain how to shade.

J
Y2 Yy-§ amd  y<TEy
obstled X, v Ry
oR obfted
Solid D oA o
SDI('J
Shade abe 3 - e Ane 3
or  oR &
Shede behes Shock belav ¢ Circle i

14. Graph the point 65, l,) Is it a solution to the system? ﬂeS

OR

Ts it in e ) /\)O
toble Shadkd 7— —

15. The Poughkeegsie Drama Club is selling tickets to an upcoming play. They can sell Scotickets. The adult
tickets sell for#/D each and student tickets cost {ree They would like to raise § 3,000 If x represents the
number of adult tickets and y represents the number of student tickets, answer the following.

Write a system of equations that models this situation.

+ ~ — I -
hurpb!f nu':&bev ”Wgﬁb;fu , g%s+ m;n;bcr S:cﬁ ﬂvc\;Fnber Cost of
adult Sudnd  hekets At Adilt 1 Shobed Shodend M
tickets Fickets i fiket  JicKets hiketr yppefs — FekeTS

16. A party is thrown where <0 tables are used. Each table either sits 8 people or A people. A total of )70 people

can be sat at the tables. IfE represent the number of 3 person tables and T represents the number of /0
person tables, write a system of equations that models this situation.

= = Ll =
Numbeg of Mambet of Total oundbes ";’fb" ::;"M ngzbzv h:rkr( Ista/ Scafs
P T persen . B agr b Ten in -t
Tables Tables o):if pefion  per  perien dom
cy”_ Tables One  Tabes
peison ]f{;n
T e Jable

__302_



